FEZPT AR IUAEEER
FERRE:: 96 E5H25H (L)
C-37-30L =Dt
g BRZEFEERMESEE FEILSZED




AN = = & HH @88 (FERZZ=ZHE)

K g A Bt (KRR, BiRERRE)
AXH #MxE  (EHHER)
SH B (FETHREREE,. TERZSHE)
HRE EX  (FETHEZEEE. TRRZESEE)
WH ——  (FEI<EMERE. AhEs=®E)
AR BAE (FRIEMEHRE. HhESEE)

% & o7l
AEFITEER WA R (FEIXEER)
AEEEEZE MBERETEISE
A= H<EIR (5 0E)E)
NV L (REUpER/NESED, TEICEEIEIR)
H F3R (FEBRZEEIR)
Al FX (FEAERZENR)
ARIL #HBZ (RS E 5P R)
Bs & (FETHEEIR)
(MEST (FREHPRZEPZENR)
& 16k (FEREXE<EIR)

AE2IRE
09:30  BHiS. ZAHRAA

10:00 =T

ESE/UVES EFEE

ARemRIES JL—)L&REA
ERITEZERKEE

REHE

Fyr Uz —B=
10:30 SN o e

15:30 R&=RT TN ZxEE (F3I—H)



SR

X AW T DIERICHRIEVW A FTRIGWZIZE KB EMN T

sReatyvs>
FEPR
L0 NP AE LT
19,2057 F A BB TS
24,57 S BT 3Sko R

28. ZFINFEIFE

55%

Bd—b
retvs>
FEit

12 /NVEIEEFHUT
13/NEUEEFHUE

56%

28%&
28%

cCad—b
wrEBLtYIT>
FEit

1L NE3EERHUE
LNFEFERRH E40kgl £
2 /NVFOEFEREL EA0kgRE
3UNVFEEEETIUT40kgU L
7 INESEEEHLT 35kg
56%

wetvs>

FETH

14 /NF2EERHUT

8. /\FSELEHLIT35kgKi
16.4hEFDED

17. 4 F/INFOFEERRHE E40kgl £
18. ZFINFOFERRHEU L40kgKi

56%

6%
5%

EJ—b
B2etvs>

FEEAtE
4 /NFEFELE BT 40kgRiE
5/NVESEEREM E35kgM b
6./NFSEEERKHLLE35kg K
21. 22 FINESEFERHEU LRSS
23 ZF/INESEETEHLUT 35kg )k
25. L FINPAELET TR
27 G FINF2AFE

57%

Fd—hk
Bsetvs>
FEH

9 NFAFERHLL
15 /NVEIEE
26. ZFINFIFLE

52%

o> E

14%&
204
18%

A\Y

g

2L\FET,

b= IFT—ZFofcTEEICTH N TEEL,



T
I &
- ff
M-E

3t~

E G

it

B
R

3t -

%!:'t

+H
i

I8
5
i+
AR
5

it - i

- F
T
de -1

B

it-8

T8

&
aH &3

® 2T

LN BERER

M OBE

HarS L

N EHZE
WLE 218
A F
gBE FK

X BEX

fERXK A

H
[
o2
X

#H

i3
Tk

Rk HHIE

FE RE

NG BE—ER

#3

#53t

=l

L F5F

=2 BA

Ad—bt &EEEYTY)

10.NFA4FEFEFUT 47%

—y

18

36

19

20

10 —

11—

37

44

21

13 —

14 —

22

15

16 —

17 —
23

38

18

19 —

7
20 —

24

21

22
25

39

45

90

— 24

8
— 25

23

53

51

46

40

26

26

— 27

28

27

— 29

30

— 31

41

28

32

33

34

29

35
— 36

— 37

47

42

30

38

— 39

40

31

SR}

42

43

43

32

44

45

46

33

47

KE &
A+ SmE

XA

H/t %
BiE FE
BR %
BEER Kt

A NN ;357

WEH &KX

N X3

REF
E PN

[t
L
NG
INFR
M
FH
=1
BR BUD
iR Btk
KiE AR

— s
=28 B

EAR —&#

pE B

T
®-#
f- 4

A 7 - 2

k-7

T8
I
55
- 3

it-8

I
-4k
- #
I &
&
e
b
- F
T8

dt-de
it-fa



Ad—k (&E&BEYTY)

1920 ZF/NF 6 FEFHLUTHRE 3%

JIA FED WEHH BEE BRI I i:25) alr JIE L
w48 JIIK #EiD 16 34
h-% | 49 ILEFH HE 16 48
-8 | 50 R FH 34 48

L R ED

24. FINF 5 FEBEELT 35kg KB 2 4%

37

51—

52

28 LFINEVEE 34

—— 52 hEg taE - ®

BR Eak RNA EE T ER b5 alr JIE 432
W-B | 53R EaE 17 35
.l | 54 NE BH 17 49
T 6 505 =3I 35 49




3t - Fie

-

-1

-4t

3t -

W&

k-4t

T

e F

itz

R

o &4

AH# =

KR HE

Bk &

i WE

R *E

ML BERXE

BEx =

R KA

BfE BES

aH HE

R IEiE

BN FIARER

BI—t (R&ELYT )

1RNFE3FEFTFAUAT 28%

—_

26

41

42

49

N
w
m

50

10

=B

11

=h

1

w
N
N

15

16

17

18

19

20

21

22

23

24

25

26

27

28

&2

aix

P JE—ER

N

EGPN

;K

3

et

i
it

ik
I

&=

(-

R #K

a#

T
s

%A

KiE

11t

N

k-7

e F

W&

T8

jt-de

JeeE-#

-z

3t - Fie

-

pRE S

de-dt

T8



BI—t &Ly )

1B3NF2FESFSHFULE 284

- EaRRK LE 29

43 KAR EE T-%

it-d TR K& 30— —— 44 Ltk HE -8
33 37
13 19
f-F KEE 5 31— 45 WaE 2iE a1
Bb INB RN 32— —— 46 A RE -7
45 47
14 20
it -F& WA R 33— — 47 FEHFE EI} G-F
I 8RE = 34— e —48  KFEA £T  dt-a
34 38
15 21
-8 =W BA&E 35 — L— 49 R ErE T
51 52
it - fn Ml Fx 36— — 50 AR B W=
16 22
MR R 37— L 51 ful Ko it-iE
35 39
54
B BiR 1KIE 38— — 52 FiE KM [E2RE
17 23
-4 B =iE 39 — 53 BE HR -
46 48
dt-dt AR B 40 — —— 54 NA [E t-dt
18 24
bRk iy ER =F 41 36 40 55 xH EBE b

it-78 Eig BC 42

56 KEF BE dt-7



it-

it-

b

it-

it~

3t -

it-

>t
B

fia

N

5B 4L 1
a2
IE#ERE &EA 3
T M 4
®E EX 5
¥H &R 6
Y EiE 7
atk R#t 8
EH BR 9
Rk ke 10
ng M|\ 11
T o&F 12

Ca—hk rEEYT V)

NNFEIFEFEFUE 254

10

23

11

12

24

36

=%

13

44

37

14

25

15

16

26

17

13

14

15

16

17

18

19

20

21

22

23

24

25

A H

;PN

B EE

aff B

A g

Al bzBh

Sl Bz

TR BEXE

A BEX

il B

T EE

EF #X

it-

it-

3t -

'F.

it~

k-

it-

P

-3t



3t - Fi

-8

R

3t-de

- F

it - B

T

it-&

-1

BA BEXH

s ER

Eip I3

H IR

HEA o

EFE-17 WE B

3t - B

a6

g i

Cd—+ht GREEvTY)

-4t

i @A A0

Ki\E $% -4

it B

HRK BEE h-T

1IN 6 ARSI 40kg LLE 114
26
32 EER W
27 =
E 29
27 —
—— 33
18
20
28 —
38 39 L 34
29 —
—— 35 &1l #H
19
21
30 —!
28 1 — 36
31
2. I\ 6 AL 40kg R 94
37 10 42 EE F5
30 32
38
22 43 HAh F#
39 40 41
44 BO KE
40
31 33
41 45 @k £
46

RE B3

3.0\ 6 EAEELIT 40kg LLE 5%

46

47

45

2

51

46

48

— 49

36

— 50

INFR

[11
A

R 8%

it-a

-8

5

3t

it - %ia

Cy:



Cd—hF GREEY T V)

7.NF S5 FEEHUT 35kg UE 6%

Med IR KA 5 3 54 EE B
42 43
T INE EIR 52 — —— 55 KIF BF
34 35
el BEE & 53— —— 5 AtE —H
47
Dd—F EBLYT V)
8. /NFE5FEHFEFLLT 3/kg K 124
T-# FHE BEE 25 31 &IU whiE
26 it L 28
-4t X BE 26 — — 32 ER &5
17 19
m-x KR B 271 — — 33 t% [BI&
39 40
h-g RN BT 28 — — 34 AFE T
18 20
T RE o 29— —— 35 F EAER
27 29
48
- R FE 30 ——— 36 Ee R
16. SHEDEE 9%
A OEIB BE 37 i 42 BE LES
30 32
- HH E 38—
21 43 g &
W B0 R 39 —— 41 42
— 44 B[R EH
h-F RHRRE BH 40—
31 33
T-# Bl TZ2B #1 ————— 45 B EA

49

AP

-1

G R

b

e #n

Jt-dt

T

JeeE-#

- F

i-A

SHR



jt- =

it~

-5

e

B A

R /N

3t -

- ()

-8

T8

it~

=K &%

pickz: 1

L

HR &3

fAIXNEE B 5 —

NiAx &1

Ee th

HFE AKX

Erh BEXED 12

DI—F &&ELvTY)

14 INF ) EFEERBHUT 244

4 ——

2

10

22

11

37

10 —

1M —

23

1k

12

47

38

24

13

13
— 14

— 15

— 16

25

— 17
14

18

19

15
— 20

— 21

— 22

— 23
16

24

=t i

— Ik

E PN

£ H

15

KE HER

HH

aE

e

H

&R K&

K EA

3t -

t-u

%

T8

it -

CRE N

Je-A

5

it - i

jt- =

()

it - fa



DI—F EKELyTY)

17. @F/NF 6 FERHUL 40kg LLE 6%

1

-8 WK 5 46 49 £l BHEE T-H
43 44
RE: KL g|gE 47 —— 50 WH AE -8
34 35
-k BK BX 48 —— 51 Bk LwA JLFE-F
50

18. ZF/NF 6 FERmLLL 40kg K 5%

1

54
d-®  @EE gE 52 ——

45 46

—— 95

-2 @& BE 53—

36

51

Ed—+ (BBEvTY)

4.2 6 EEEFELT 40kg K% 8%

BB BE BA 1| — L — 5
22 24
I-fE mE Em 2 —— SR
36 37
e it EW 3 —— — 7
23 25
R AL S T — 3

47

TE =

HIg 5T

A+ HE

e R

3t~

R

—— 56 ARHE FitH Jb-iFE

%

-a

MEE HE P-X

iR FX

it - #&



2R

W8

-7

FiE &R

BE 1&FH

BT &R [R5

he AR
-z EBER ER
-4t A o
Tei AR EER
MR AH HxT
-\ = @
ILE-H FEE BAER
T @ WA
T2 fH IR

Ed—b (BEtysry)

5. /\F 5 ARG E 35kg M E 124
9 15
10 4 12
10 —— — 16
1 3
11— — 17
30 31
12 — — 18
2 4
13 — — 19
11 13
44
14 20
6. /NF 5 FERRHI L 35kg K 12 %

21 27
14 i 16
22 — — 28
5 7
23 —— — 29
32 33
24 — — 30
6 8
25 —— — 31
15 17
45
26 32

NHE BE

EE &I

INE BESY

gREA =

£F A

RE BEA

el KF0

BB ER

Hh B8

% &=}

=fE K

SRR

-4

-1

T

3t

- F

et

mF

T

W8

A

- F



Ed—F Betvsy)

21.22 WFNF 5 FERHFULRE 54

B
35 VB FTRD
it - & B #t 33
40 4
—— 36 JKH =tk
T8 F EAE 34
29
—— 37 B BE
49

23. ZFINE S FEEFUT 35kg U E 4%

3

it -Fa B 2% 38 — 40 KR A

42 43

- ARF {ZH0 39 ——

41 K 5

50

5. QFINFAFEE 74

- EHE B 42— B

26 ————— 46 W EX

F-E BIE{CE 43 —

38 39

t-®K W RE 44— —— 47 A H XA
27 28

-2 BEHEE 46— —— 48 L0 #EE

48

-1

T8

3t - B

-4

jt-dt

itz

3t -

A



B/E =L TS5

-y HE R

T BE Xk

- mE s

b AE BEA

W-B AR EZT

-2 A

-8 @I @5

T B ZZ2B

49

51 —

52

53

w

S

(S

~

Ed—F (BBEvsY)

1. QFINFL2EE 94

B 54
18 20
9 55
34 35
56
19 21
57
46
FO—k (FBEyTY)
0./ NF4FEFHEULE 144
_ — 8
23 26
| 9
37 B 39
S — 10
24 27
— 11
45 46
_ — 12
25 28
— — 13
38 29 40

W =K

BE &F

MR RTE

HEA fE

i
O
i
mt

& B

B

it

FR Hf5

-

W8

T8

k-4t

k-t

B

it

&

EREN

-

14 #HFHE ML T-2



Fa—F FBEvirY)

5. NF21EE 204

-4t EE KF 15

25 &=HF & d-Aq

11

7
-y KHE ¥ 16 — —— 26 WK B BEm-K
3
1
-4 BA &F 17 — —— 27 AB# R #-0
29 31
B
T EEE FER 18 28 &R EBE T
8 12
t-78 FHF B 19 29 [ &3} A
4 42
m-F FHE BEZE 20 30 HF fKiE Jb-A
9 13
-4t #EE K& 21 31 fE BE -
47
T-F% tHE #BA 22 — 30 32 — 32 %O EFE d-dt
2 4
-4 ZEH B4 23— —— 33 M IF T
10 14
-f8 & B3 24 34 FEx B -k




it

R-HH

it - B

k- /0y

-4t

AR

)

-5

ARE %R

FH R

N TESR

/NES

i

#E BN

R

%

NH

¥

2ES)

AR ERA

FI—F (FBEYT V)

26 LFINFEIFEE 184
35 44
15 19
36 45
33 B 3
37 46
16 20
38 47
43 44
39 48
17 21
40 49
* 48 36
41 50
18 22
42 — — 51
5 6
43 — — 52

¥ XA

N

FHE E=X

T X

IEFHR BIZE

- &

it - &

b B

- F

e -#

it

LR

-1

)



